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QUESTION 1

Service-oriented computing aims to increase an organization\\'s responsiveness by allowing it to adapt to change more
efficiently and effectively. This is known as:

A. organizational diversity

B. organizational agility

C. organizational federation

D. organizational interoperability

Correct Answer: B

QUESTION 2

A service can be designed to access or invoke: SELECT ALL THAT APPLY.
A. a database

B. a distributed application

C. a legacy system or resource

D. other services

Correct Answer:. ABCD

QUESTION 3

Service-oriented analysis and service-oriented design are typical phases of an SOA delivery lifecycle.
A. True

B. False

Correct Answer: A

QUESTION 4
Which of the following statements are true? SELECT ALL THAT APPLY
A. A service inventory establishes a boundary for a collection of services.

B. Service inventories represent collections of related services that are independently standardized and governed.
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C. The quantity of services within a service inventory will increase as new services that belong within the service
inventory boundary are delivered.

D. Service inventories are ideally planned and modeled ahead of time via the creation of service inventory blueprints.

Correct Answer: ABCD

QUESTION 5

Service-oriented computing advocates establishing a technology architecture with increased vendor technology
diversity, which means that service-oriented solutions need to be consistently built using different vendor technologies
and products. This way, the failure of any one vendor technology or product will not bring down all services within a
service inventory. Select the correct answer.

A. True

B. False

Correct Answer: B
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